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-2x+y+z=a x-2J+z =P, xry-2z=y, mmmmm
AR A AW -
- JA) atpeye0 (B) a+B+y=0
(C) a=-1, p=-1, 7-2 (D) a-p+y=1.
The three equations -_2x+y+z =g x-2y+z =B, x+y=-2z=7 wil-have

] no common solution if‘ | \_ N \ \

(A) a.-!-B-!-‘rsD s (B) a-pp:?_-.-'c,.-o
' ) a=-1, -1,y =2 D) a-f+y = L.
' 2,

3 - 3x + k=0, M R oo TR Jmew W () = ’BH'%K

W -3<ke2 B -1<k<3 i) = B — 3

(C) -2<k<2 (D) 0<k<2. __;—) (7)) ~0
l The equation x 3 _3x + k =0 will have three distinct real roots if -=,> e

-3<k<2 % -1<k<3 Ko\”—l
C) -2<k<2 ) 0<k<2. - 'rnu)’r}-x&
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P

/'Q_:CQJ - . 'Q‘) ’.-'r‘.'-
c? +1 c;c‘D\ <@ - Q*"‘ "E'L W
)} e & 2y B N .
© i 0% e 1. A Y S A P e
| e

- - &t. : c v o .
, e
; \\* "\}._,(- o 7 o~ ° T

-



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

¥

Adda247 '

Code : 86
; a 02 a341
” 2 w ‘
7 w® (g g2 PPl =0T (1 o u‘}.il.B.Blel‘-%? A \
Y 12 Y +1
i ot T8, O o3 W
Ay O B -1
(€ 1. D 2
(o4 a.2 a3+l

i [ 2 g3+1 = 0, where the three vectors (1, a, a2 ). (1, B, 82 ),

v ¢ Pl
[1.T.rzlai'cnon-coplanar,thcvalueofaﬂyis
@ o ® -1
© 1 _ D) 2.

: - . cos O -sin@)
For all real values of 8, tht matrix | is

Sl - s;n_l& cos 6
Adiges . - L @) symmemic
mmm{l-i i - i} 9% S Wb generatoreF X
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\)‘//yl +2y3 +2y3 +25’132 "432!!3 - 2y5Y, -amwm ce
(A) N offe - B) WW o “ N

L (€) SRS (D) W ‘Iﬁ'ﬁwi"tf? -
;‘h?uadratic t'orm y1 -+-21gt2 + 2y3 & 2y1y2 -4y2y3 -2y3y1 is'
positive definite ' (B) positive sezm—deﬁnite' _
) indefinite . - ' (D) - negative definite. - . - - : ?

sifberRee o wlim (1, - i, 1,-1}mwmmmﬂwmenemtor}

A :

@ 1, -1 B) 1, i

© -1, -i . ©) i -i

The generators of the cyclic group formed by the aet [ 1 i 1 -"-‘1 .}.hxiﬁﬂer |

arithmetical multiplication are - o & Botisiss 8 s
. =1 ™ - - ® 1,i CRTe |
T ' . \/(,‘D)/I—r L o :

ﬂﬁWﬂ‘h‘%ﬂ'ﬁﬂW f(n]=n+2 nt—.Nm,appmg-fG

" (A) @R (one-orie) Ry sifma. (onto) T | . . . '
@ (B) tFF o ofmy - A A — i @)
@ o N _. - . @ N
(D) oY RRMY | ' '
If N be the set of positive integers, then the mappjng f(n)=n+2, ne N is
(A) one-one but not onto ; \jﬁe-om and onto )
C) none of these . (D} onto only.
1. f:R-R Mmappmgcwmi(x) = x? +1, xenxmwwmmmlm
i 1 10)-9% S u
w o ms. . T
€ -3ax3 . D o A ]
f: R— R is a mapping défined by f(x) = x% +1, x e R-and Ris the setof :
~ real numbers.-Thcn_vaIﬂe of i 3_ (10) is - 3 s \w)':. r\'““ - :
W) 1 ® 3 | B
d€) -3and3 ' B R r ; .
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A) 2+45
( 2+J' (B)
© 13 13
© 22_ : g
35 -2 -
For points on the conic 13 = J5 -2¢os 0, minimum radius vector is
r
13 B
@ — - 2+45
2+45 ® A NPT
- .18 o 13 0. '
€. = - ) =2 \%
V5 -2 : J5 - —
\W"W‘kw‘" —12x‘ﬂﬁwﬁ.ﬁ¥ﬂm k-3
A 3 ). -
I the straight line ** Y=k be normal to the parabola y2 =12 x then value of
k is
i 2D
23 B -9 \ % "’\""’"‘”’_‘T@
- =3 ‘ (D) g. ' o —S% -
v =8x R St 2, 2x-5y 4 = oﬂmﬂmmm\h ) =™
= Fg
@ &) (-2, 109 B) (4, 5) &%
-— '-5- : h’\' r'-"'-:)’_'
(©) (.2.2] (D) (2, 10). ‘i: &
Co-ord:.nates of pole of the straight line 2y — Sy 4 = 0 with respect to the
pla . ' 3 =% 5
__Ahh,-df\-\.
B) (4,2) efA ]
3 TR
a EUN
B (2, 10). "D- 2
x-1 _ y-4
T Sy e
(B) k=3 wemy —3
(D) k=1 oot -3
' -2 -3 z-4 x-1 -4 z-5
‘“h”“‘“-?’“h““ irirf—;? sl e Sk
B k=8 o -8
o @) k=1 or -3,
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lnthcequatxonoftheplanc ax + by+cz+d =0, if a=b= 0 thcnnorma.lto

'

\%wwawuomﬁﬁwm a=b=0 T, TR 7O . J!
(A)  x-CF AR (B) z-STFI TNREA I

(C) PR TTHFY ANCIACT 7Y (D) y.qmqm| )

o |

|

the plane is ) o

'(A) parallel to x-axis V{E]/- parallel to z-axis @

C) non-parallel to any axis (D) parallel to y-axis.
2x-y+3z+7 = 0 @R 2x-y+3z- 19, = omwmﬁswm

wﬁ'ﬂﬂm ARGy
(A) 2x-y+3z+13=0 (B) 2x-y+3z-13=0
T
(C) 2x-y+3z2-6=0 (D) 2x-y+3z+6=0. )
3 —

The equation of the parallel plane equidistant from the planes
2:x-y+31i+7 = 0 and 2x-y+3z-19 = Ois
(A) 2x-y+3z+13=0 (B) 2x-y+3z-13=0
(C) 2x-y+3z-6=0 D) 2x-y+3z+6=0.
: -
S a, b, C-9RET (axb)xc = ax(bxe)
- - —
(A) b (S8 a 8 c -9 S ANI
' - -
(B) a8 c Ry

_’

- - - -
(C) a @ cHF I A b(S¥T a 8 ¢ OPFE &

D) b CSH 2 a1 TP |
' - = -5
[+

Fo:rthmenon-nullvectora_n. b,

(A) vector g is parallel to the planes of

- (B) : :areperpcndiculartoeaphothcr
: - - -
ﬁ:: c are parallel to cach other or b is perpendicular to the planes of

. -»
a and ¢

isparéll&ltnvector a.
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Projection of the vector a =1 -2

@ L = ¢ 1)
g - - 9 < S
3 //:a

o A\
o e = )
n+1 n+l 3 o ti_'_‘j:'_/
n_mz +3 % W ,\\\.- VY ® 5
on . 3" w B
-
A 0 B 1 W s B
¥g) 3 oy & P =
— pn+l _an-l A %
ue n-—>eo 2!1 3" 15
) o . B 1
C 3 D) 2.
AR fx) = x" T, QR n FRE RN G2 T x07 Frs T e
! ] (n)
'W.W'ﬂl]+'—t-—E&+%-—.,..+%mw
n =
' W
A 1 . (B) [\5;
©@ 2" @) 3".

If f(x)= x™ , n being a positive ihtcgcr and if Y’ represents derivauve w.r.t. x,

! v (n)
then f(1)+ fl-_lm+{l_2m+....+f |_nm has value

(D) 3%
10 , 10 , 10 10 7
Y 2 +?!ﬁ-+ +Nn et
1
® 7
D) 1
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; (D) 11.
\\xf(;?x)-lx-l | I O x = 1 s Meva com e v

(8) RS g R e mﬁqw A A
B) &S W

(C) SRRy,

@ (D) S g SR Ay |

- Which of the following is true for the function f(x)=|x-1|at x=19
(A) Continuous but nothing can be said abot differentiability
(B) Not continuous
(C) Differentiable

Continuous but not diﬁ‘t:rmnuble
x-ey-i-ey"' .t w % 2o

) %> 0 ST O y' (1)-9% WH

w o N i

/ \ f\ @wl
Value of lim l:l_m'+210 +310+...+nmJ \\)T\\ |
n-w is "

_ P
(C) 3 . (D) 2. Tl
For the function x:e"""y_*'f"'mm, x>0 valueof y'(1)is
A) 0 - B 1
1 ) :
@ 3z - | D) 2
Wmmw x+-——+-——+ +——, x>0 wmmmv r:
NN
" —_— \ -
(A) x<1 1 x21 “;\f\ﬂ
(©) 0<x<§' (D) ‘%sxcl. SOV AN )
L2 3 n g
For which value of x, the series x+ 35— 45, +£—, x>0 is divcrgant? W
| 2 '3 S
(A) x<1 \(B)/xal
; . N~
. 1
© Oex<d B fsx<l. - .
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: i l1+a* _ | ' : '
®. = B) 2=
© 3 D) a=

The value of I M (a>0)is
- l+a*

@ = & 2
© 3 @ ar.
\)ﬂﬁmw; x=1 ﬁﬂ{nwmwmmm h“_';'o 7 f(1+H)=5, mf’(l) a7
WA . | '
@4 A B) 6
©.3 L . (D) 5. o
If a funetion fbedifferentzableat x=1 s.nd h“_‘r‘o h f(1+h} S, tl'mvalueof
s 5, ko TR
_(A) 4 ' B) 6 x,e;h -
. 83 . : @ S  uw
.mmmmﬁﬁw@mwwmm w2
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\g}ﬁ“y = gt -4xwmmwwmmm~ o

! _ -11 ;
? (A) tan = {B]'%
-13 .
© tan™! = (D) -ta:rl.%.
The angle between the two curves x2 -4y and y =4x at their pqmt of
mtl:rsecuonotherthanthaongmm e A‘ d‘ ,&‘q_*ﬁ\
11 ' ' ~ =
(A) tan™ 3 | B I N‘ :
_13 , /
© a3 | dp/mlg N k&‘z‘ﬁ‘
\/30/,)'( a 10 Sx -x2
x )=y log, ~= SR T et 7
(a) 0<x<5 - . (B) 1sx<4
(C) 15x<5 (D) O0<x<4, .
2
The domain of deﬁniﬁon of the function f(x)=. lo:‘ge 5x - 4x is
(A) 0<x<5 B) lsx<4 -
€} l<x<5 ' "~ [D) O0<x<4. 'g_‘*-‘p;)
4 F : R .\:\,K - ""hﬁ“v S
4 I[|x-l|+l-x-3|]dx-ﬂﬁ‘iﬂ"'{' il T g &)
4 . ! S-, i '_*_-'Kd"n/ ot M/ﬁ"
. | o~ A =
@ 5 . - GB.’ 3 '\/‘{V ™ [N
L@ w0 D) 2w — T o
_ | @ ™ ~
Valueofj. [1x-1]+{x-3]]dx is wﬁ/ ,\b
. 5 b
\ 2 - : by
() 5 | | ®) 3 -:\/.

10 o 2.
" (y+1)p- p?x +2 = omrﬁpnﬂli mtwawmnmmwmzm

A ly+112.=4x | B) - {y+1}2+4x 0
@ (€ y?=-4x " D) (y+1)%=-8x.
Singular solution of the differential cqlmﬁon (y+1)p-p2x +2 =0, where
p'% i’ %_a\) ” k\-— Tt ey
A) (y+1)2 =4x ' Vh"% B) (y+1)%+4x=0 .
C) y?=-4x my'+1)2=-ax.
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C YR, k=, y=x e Rl s weER SR ‘el.ﬁ )
) -
” Vax? 27 gy -ax
1 0
T - n 1
21’4'3_ | ® 33k
€ -3 >l
279 | B cE=+%
[ 2.2
V.ﬂlu‘ﬂﬂf ” 4x -92 dxdy over the region formed by the lines y=0, x=1
Yy=x-is
) . |
m} - f . : T 1
Y I ® 535

(D)

5
dx-l-ﬁy 6x°, @QWMWWWWM

Q . ‘A} - _cl;‘r.l'.czx +e :.‘ . \*B]/ cleQx +0233x +x5

|

L !

C) eyx -""'céxs +x® (D) clx +C xa é Sx I

2. ,

The general solution of the differential-equation x2 ——d g - 4x%% +6y=6x° is E
a _

(&) clx + c-zxa + es." _ B) cje* + cge®* + x5 !

, _ ;

(€ "‘1"‘ 'chl‘ x5 (D) c1x2 + c2x3 +%95 E

f(x}mmmwmm CRIA f(1)=f(-1) AR g, b, c
mﬁmmwa ,f’qa) o fl(p)e 5! (c)mﬂnwmm@m
ﬁ)wm - @) emwefs

oy B # s (D). GFAMR W |

f«(xl:saqumymalmx.whm f(1)= f(—l]andthreenumbaraa,
cared A'P 'I'henthath.tpenmﬂbtra flia), Fl(b), f'{c) will form a/an
i ‘(B) GP.
(D) none of these.
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: A | | -
(A) 593 YRR v-a awrrl?w F
O3 AN (D) R | ' j
If the relation between displacement, velocity and time at any instant of a particle l
. . moving irr a stréight line be s= % ut, whcrc"symbols'ha{rlhg usual meaning, then
the acceleration of the particle.will be l.
f (A) proportional to s (B) proportional to v :

(C) inversely proportional to ¢, (D) constant.
. TS BEIN (I IR AN @ TSR QU AW A g1 el (T JuFCAAH 5

Lul |
() ofge | (B) @ |
‘ (€) & Faf _ (D) Y | |

If for a particle-'moviﬁg in a plane magnitudes of radial and cross-radial velocities
" be same, then the particle describes a curve which is a
(A) parabola - (B) circle

equi-angular spiral (D) hyperbgla.
mﬂm%emmw:mmwmm

. A e‘l'-m-mmﬁw_' (B) e~V -a7 ANt
(C) #3> (D) s-aF AT |

For a particle moving in a plane if tangential and normal components of
accelerations are equal in magnitude then velocity of the particle is

(A) proportional to eV _ (B) proportional to e~ ¥
(C) constant (D) proportional to s. b
\ye{ mwﬁmmmmﬁ PTA TR K.E. TR
_ 1 p? \
(A) mP - B 3 pem =~
d Y
m mp2 @) -
m
If P be the momonturn ofa parucle of mass m, then its K E is
AR 1wl
@ mp B ;=
3 i = p?
(C) > mP (D) %
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10, TR PR qelb s oyl e gy x gae o pad e
v 22022 g A gt @b st s o ey caie
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(A1 9% Y Cotg et (B) 5 @@ oty A e
o 2
(C) 7 9T T (W e (D) 2 9% vate Al4et Gisia |

Relation between distance from origin x and velocity v of a particle moving i a
straight line is given by v?.2.y - x3,

Then centre of the simple harmoni
motion of the particle with respect to origin is

(A) behind a distance of 1 unit (B) ahead by a distance of l wnli

(C) behiﬂd a distance of *-1- unit (D) ahead by a distance of 2 unis

41. oz “Q‘P‘“ u L Terw frew chio 2ot o amga i qenfba cacsia asfa sueie
R v ol @t 7, ww @il saw Swe

S

2 ;2 ! 2
(A) 3‘%103[“% " (B) t—-lug\ — |
v u 29 7 y?
2 2 2 i )
v v v ve
(C) ——log—— (D) —lngl 1,~_.-J
29 VZ +u2 q - u'i

If a particle be projected vertically upwards with a velocity u in
resistance proportional to the square of the velocity and if v
velocity, then matélt height attained by the particle is

a medium ol i

be the 1erminal

29 Vz' Ve u*

l e B) —log| 1+ —

) og[“u",] ” ug[ ’v'-‘J

L oy2 #2. v2 (. y2)

D) =—log| 4

© .ﬂs”vﬂ | D) - log i]
WWW@W?

5 3 [T} i
(% y) x22,ys<l, _ i
i - BT Lad Ak 141 S N FRY TPV P
" o 5 T
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Which of the following is not g convex set p X

§

‘ _
; (A) Xi={{xy)ixsy) (B) xﬂgl(,ﬁy};ﬁipﬂiﬂ &
Z gﬂ b*. ¥

= (xy): ) . e 2y |
N T BN A (P

. m e e nmmﬁﬁmwmmﬂmﬂwmwmwm?’m

| §
" . L ‘ . .
t' Wi minbrims] (B) sm+n-1 t
'
1 C) = m+n-1 D) = m#+n @
. In a balanced transportation problem with m origins and n destinations the
_ - numbc; of occupied cells in any optimal solution is v | |
!- tA) m+n- 1 (B} Sm + _1 rn'.._’. :l
H ) " oy !
; \_)C.)/- m+n=1 (D) = m+n oo’ M’cb;,w .'.
-' \)‘4 21356 Ty S o 7 x 107 © Ton Gilba AT ww e 7@ £ e m,;?ﬁ,
) ."\0 .':. -
d{]' ° 2 { T’ ’l@'qu "
t(C) 4 g w (D) 7. : . \,'
If relative error of the pumber 2:1356 be 7 x 10” 6, then number of correct di_gita *\{, z
in the numberis = : o
A S ' (B) 6
c) 4 : D) 7.
: 31 4 _ - - -y
\ 7T1 x 2| it W (rank) 2 T 6887 WA .
4 0 x+2
[y
w @ 1 @3t 1 SR
f,,. “AE o '\ o —am) AN W\
L] 5 ') Lo
+ © %@l (D) 643, )
- b 2 . W NG "
' 21 4) . A §-W L AWRY
v’ If the matrix | 1 x 2 | has rank 2, then values of x are H;: " mv”'
dl = L
() 6end . B dandl (oK -V X Cos
1 . . (D) 6and3, 4 -,
[ 150of 24
91086 N


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

.,

. GET IT ON
Adda 247 A5 AR AR AL A AN B Y b Google Play
- 2} % ) \ .
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\/‘{E@Wm u*& v@ﬁ%ﬁn |u¢:]_1!§’l W!u UI-\MW higs=
< Anl \
L . O
& 7 —
. o 2 T
If fi 5 o A Ay A
@ Or two unit vectors U and v, |l:+;i=1,t.henvaluc0f [l:—l\'i is
(A) | . B 3
N3 _ { .\b-_'\
D) 2. A"
8, 15,
: 2::1 49, 19_52 7,16, 95, 77 aammﬁwwmqsmsﬁg%m |
_ . .
© 273 :D}) ,2,33 4w
The m
C’) b 77el:n ean deviation about median of the numbers 8 15,93, 49, 19, 62, 7, 16,
@) 237 PR
27.3 B 223 K ALTATIXAR O 4 FL
: (D) 27.
J' | cos x | dic -4 W R D
6 :, L =
A4) o - (B) 1 .
Y» \
e = ; (D) -2. A\ XIS LAt
_ N | | \ . Ay VAW \
* Value of: j lcos x| dx is g} WY \
I | ] %3 -\
- ' . -;S-\..*
(A) o. o | QEKI L R
. ,)_‘ -1 (D) 2. *
ngmweﬁmmmuﬁ x+J_y+12 0 Wmaﬁmmmm —
: x-k tz‘qmeaﬂ ‘ﬂ‘ﬁm
Il: P n
(A) g (B) 3
e r . 2n
IR R | @) =
-If equation or the line .x.+ 3, 3y+12=0 reduces to the form x = k when the
B coordmate.axm arerbtated through an anglee then 6 has value
" . . 4 L]
| ® 3 }
2n \
® T
| . |
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1

| cdng
1

11 | m —
i \)/“maw A BS C Qo wi e e YO 2'39 7! A ﬂm&m -
1 REWR graen
s 5 B 3
; W = | ® 3 N
| o 3 ) 1. .
4 .
i ‘ ' LY ana L
! The Probability of solving a problem by 3 students A, B and C are 2'3 4
1 respectively. The probability that the problem be nolved is (-‘N‘.) ~ @ U’D X R( L)
i 5 3 A S t s X
ol B — ; : 2 :
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by the parabola y2 =ax and the circle
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For a complex number z, the number of solutions of the equation z2
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In the families with two children, assume that probability is same for a child to

be a boy or a girl. Such a family is chosen at random and is found to have a boy.
What is the probability of having another boy ?
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